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O^x/L pkdxfgu/kflnsf eP/ auL/x]sf] Vff]nf, k}gL, vf]N;f 

vf]N;Lx?sf] clwsf/ If]q -Right of Way_ ;DalGw dfkb)*, 2077 
 

o; pkdxfgu/kflnsf eP/ xfn auL/x]sf] Vff]nf, k}gL, vf]N;f vf]N;Lx?sf] nfO{ 

tLg efudf laefhg u/L k|fs[lts kflgsf] axfjsf] ca:yf, af(L tyf s^fgsf] 

k|s[lt / ;f] af^ pTkGg x'g ;Sg] hf]lvd tyf ljkbnfO{ Wofgdf /flv tklzn 

adf]lhdsf] Vff]nf, k}gL, vf]N;f vf]N;Lx?sf] xfnsf] cA:yfdf /x]sf] l*naf^ 

clwsf/If]q -Right of Way_ ;DalGw dfkb)* . 

tklznM 

s_ k'j{ klZrd nf]s dfu{ pQ/  

 

l;=g+= Vff]nfsf]  

-ld^/_ 

k}gL -ld^/_ Vff]N;fvf]N;L 

-ld^/_ 

cGo 

-ld^/_ 

s}lkmot 

 

1 a'(L       30 ;'s'df/L -afnu|fd_  6⁄ 6  1=5÷1=5 1=5÷1=5  

2 ]̂+u|f      6⁄ 6 ;'s'df/L -kr?vL_  6⁄ 6    

3 v]tL      6⁄ 6 d[t         5÷1=5    

4 Xs|fxf     6⁄ 6 Rffn'          

5÷5 

   

5 v;{nf   6⁄ 6     

6 d'(fxf   6⁄ 6     

7 *+u|fxf   6⁄ 6     

8 ;]x/f     6⁄ 6     

9 kfgLkLof   6⁄ 6     

10 l;d;f/    6⁄ 6     

11 ;fj{hlgs kf]v/L 

6⁄ 6 

    

 

v_ k'j{ klZrd nf]s dfu{ tn b]lv ;'g;/L df]/~ l;rfO{ cfof]hgf ;Dd 

 

l;=

g= 

Vff]nfsf]     -

ld^/_ 

k}gL -ld^/_ Vff]N;fvf]N;L 

-ld^/_ 

cGo 

-ld^/_ 

s}lkmot 

 

1 a'(L       30 ;'s'df/L -afnu|fd_   6⁄ 6         

1=5÷1=5 

1=5÷1=5  

2 ]̂+u|f      6⁄ 6 ;'s'df/L -kr?vL_   6⁄ 6    

3 v]tL      6⁄ 6 d[t         1=5÷1=5    

4 Xs|fxf     6⁄ 6 Rffn'          5÷5    

5 v;{nf     6⁄ 6     

6 d'(fxf   6⁄ 6     

7 *+u|fxf   6⁄ 6 *+u|fxf k}gL 5⁄ 5    

8 ;]x/f-ksnL_  6⁄ 6     
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9 kfgLkLof    6⁄ 6     

10 l;d;f/    6⁄ 6     

11 ;fj{hlgs kf]v/L 

6⁄ 6 

    

 

 

u_ ;'g;/L df]/~ l;rfO{ cfof]hgf b]lv blIf)f l;dfgf ;Dd 

 

l;=

g= 

Vff]nfsf]  

-ld^/_ 

k}gL -ld^/_ Vff]N;fvf]N;L 

-ld^/_ 

cGo 

-ld^/_ 

s}lkmot 

 

1 a'(L       30 ;'s'df/L -afnu|fd_   6⁄ 6  1=5÷1=5 1=5÷1=5  

2 ]̂+u|f      8⁄ 8 ;'s'df/L -kr?vL_   6⁄ 6    

3 v]tL      6⁄ 6 d[t         1=5÷1=5    

4 Xs|fxf     6⁄ 6 Rffn'          4÷4    

5 v;{nf   6⁄ 6     

6 d'(fxf   6⁄ 6     

7 *+u|fxf   8⁄ 8     

8 ;]x/f     6⁄ 6     

9 kfgLkLof   6⁄ 6     

10 l;d;f/    6⁄ 6     

11 ;fj{hlgs kf]v/L 

6⁄ 6 

    

 

 


